N
| B |

B

|

|
EEEEEEER

RIRPIOMESH

STORAGE SOLUTIONS
Hardware included;
» 10 x 50mm Hex Head Screws E’, 47 x Nut

23 x 60mm Hex Head Screws
2 X 70mm Hex Head Screws
17 x 80mm Hex Head Screws

“"ii 5 x Flanges

Components included,;

RMWSL0227 Above Bonnet Storage

Assembly Instructions

Additional Tools Required;

I

Corner Legs x 4

Centre Legx 1

Door x 2 Cantilever Support x 1

Joining Bracket x 1

Roof x 2 Front Panel x 2
Floor x 2 Back Panel x 2
1300 911 914 | sales@rapidmesh.com.au

Side Panel x 2 | J

www.rapidmesh.com.au


mailto:sales@rapidmesh.com.au

STORAGE SOLUTIONS

RMWSL0227 Above Bonnet Storage

I
n
Lu
>
=
m
o
4

o
,Jr"f",ﬂl.‘
T
‘4,"4 e “’.’r"’,rl‘f’ul‘
‘r,‘."‘v"’”’"‘!‘.

Note

"""”
TR ————

LANANANAY
e Y

Fix all Legs, Cantilever Support and Joining Bracket
to the unit using the screws and nuts provided.

Step 4.

Entire set up is to be done on level ground.
Requires 2-person assembly.

Step 1.

Loosely fix all Floor, Side, Back, Door
and Roof Panels using the screws and

you have all the parts listed.
nuts provided.

Assembly
Unpack the unit and confirm
Step 2.

Tighten all screws.

Step 3.

The above image depicts an exploded product

Step 5.

view and is to be used for illustration purposes.

Use bolts provided to fix the legs into the flanges.

Our goods come with guarantees that cannot be excluded under the Australian consumer law. You are entitled to a replacement or refund for a major

failure and compensation for any other reasonably foreseeable loss or damage. You are also entitled to have the goods repaired or replaced if the goods

Move in to position and fix the flanges to the floor

(hardware not included).

fail to be of acceptable quality and the failure does not amount to a major failure. This warranty excludes damage resulting from product misuse or product
neglect. The warranty covers domestic use only and does not apply to commercial application. This warranty is given by Rapid Hardware Group Pty Ltd,

ABN 71145292646, 2 Park Drive

Dandenong South VIC 3175.

’

sales@rapidmesh.com.au

For stability fix unit to a wall (hardware not included).

www.rapidmesh.com.au

1300 911 914


mailto:sales@rapidmesh.com.au
https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=2ahUKEwjC6YThvafcAhUb7mEKHee0AFsQjRx6BAgBEAU&url=https://german.alibaba.com/product-detail/fr-10-good-stainless-steel-square-tube-flange-60013474794.html&psig=AOvVaw1YFQyB-Q7z2Ltm9R7TAcsu&ust=1531963076702825
https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=2ahUKEwjC6YThvafcAhUb7mEKHee0AFsQjRx6BAgBEAU&url=https://german.alibaba.com/product-detail/fr-10-good-stainless-steel-square-tube-flange-60013474794.html&psig=AOvVaw1YFQyB-Q7z2Ltm9R7TAcsu&ust=1531963076702825
https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=2ahUKEwjC6YThvafcAhUb7mEKHee0AFsQjRx6BAgBEAU&url=https://german.alibaba.com/product-detail/fr-10-good-stainless-steel-square-tube-flange-60013474794.html&psig=AOvVaw1YFQyB-Q7z2Ltm9R7TAcsu&ust=1531963076702825
https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=2ahUKEwjC6YThvafcAhUb7mEKHee0AFsQjRx6BAgBEAU&url=https://german.alibaba.com/product-detail/fr-10-good-stainless-steel-square-tube-flange-60013474794.html&psig=AOvVaw1YFQyB-Q7z2Ltm9R7TAcsu&ust=1531963076702825
https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=2ahUKEwjC6YThvafcAhUb7mEKHee0AFsQjRx6BAgBEAU&url=https://german.alibaba.com/product-detail/fr-10-good-stainless-steel-square-tube-flange-60013474794.html&psig=AOvVaw1YFQyB-Q7z2Ltm9R7TAcsu&ust=1531963076702825

